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Notes - 4.4 Newton's Third Law of Motion: Symmetry in Forces

1. State Newton's 3™ Law of Motion. L\//V}A e /'900"':\' G«‘(c?../7f5
/

A zé/fe@' o~ oan? 7 ?«:"/ 7'//53.. o 7'421/;;{"“ éo c,'(ﬁ/ A2 78
A L0 wG / om:?‘{ ?O/Q'JS ’"f’l‘C_. 74rc-f—i o - '/(VZ@ 7'@"57& 40 ﬁ/‘/
2. Forces always occur in pairs, and one body cannot exert a force on another without
%ree 177 This is sometimes referred to as action-__72 & AN
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3. Consider the swimmer pushing off from the side of a pool in Figure 4.9. She pushes
against the pool wall with her feet and accelerates in the direction opposite to that of
her push. The wall has exerted an equal and opposite force back on the swimmer. Why

does the swimmer accelerate? Don't these two forces cancel each other out?
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4. Describe some other examples of Newton's 3 Law. &—C%’C_‘} oo
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5. Rockets "
A. What is the common misconception regarding rocket propulsion? What is the
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B. What observation disproves this misconception?
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Notes - 5.1 Friction
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2}./Whenj:l’here is relative motion between objects in contact, the friction is called aw‘)/l{c":
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3. When there is no motion between objects in contact, the friction is called

Skt friction. Its symbolis /4. .

4. The harder two objects are pushed together, the ___& /. aa}é’/ the friction
becomes. - forasf
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5. Write the equation for the magnitude of static friction. /°, —— //5 A
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6. Write th e M £,
. Write the equation for the magnitude of kinetic friction. e = g
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7. Looking at Table 5.1, which coefficient of friction is gr'eafer' kinetic?

8. From Table 5.1, give the three highest examples of the coefficient of static friction.
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9. From Table 5.1, give the three lowest examples of the coefficient of kinetic friction.
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igalong a horizontal field of snow If the overall of mass of the skier

plus her skis is 62kg, and IT Sre is-experiencing a 30N force of friction, what is the

coefficient of friction between the skis and the snow? Is This statice®kinetiz friction?
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